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In [1]: name="wolfpack"”
age=59
In [2]: name=="kim"
Out[2]: False
In [3]: age>50
Out[3]: True

secret=3
guess=int(input('Enter (1-9)2'))

In [*]:

- secretdf| M4 32 =5t input() &0l Qs 2£0| 7|2 = 20| Y2l
C} 7|HEZ Ql2d Bk Zk2 jnt() &H4:0f 2l H42 guessol| KEHEICH

secret=3
guess=int (input('Enter (1-9)2?"))

In [*]:

Enter (1-9)? 7

- J|HEZEH UHE ZF 72 guessHl HE=ICE

In [9]: secret==guess

Out[9]: False
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Try again')
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int(input( 'Enter (1-9)2'))
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In [1]: secret=3
guess=int(input( 'Enter (1-9)2?"))

Enter (1-9)?24
In [2]): if secret==guess:
print('good job')

if secret!=guess:
print('Try again')

Try again

« secret=3, guess=47 M&E[0] QU0 ZX| fooZ EHm =710| MEISIEDZ
SEiR 2F01 “Try Again”0| 2& &3 =ICt,

Of| ]

In [31]): for x in range(l, 11):
print('{0:2d} {1:3d} {2:4d)'.format(x, X*X, X*X*X))

1 1 1
2 4 8
3 9 27
4 16 64
5 25 125
6 36 216
7 49 343
8 64 512
9 81 729
10 100 1000

if Z240] BHESBHR ; OfH 230| =D BHEBIX| QOB else : Of2f 230| A

In [1]): secret=3
guess=int(input('Enter (1-9)2'))

Enter (1-9)724

- A0 if ZEE F M ArEE|= THY else: 2&E ©F B AMZSHH £
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In [*]: if secret==guess:
print('good job')
else:
print('Try again')
guess=int (input('Enter (1-9)2?'))

Enter (1-9)2? |

- secret=3, guess=47} MEE[0] U0 if CtS Z£7t0| BHESIX| koD 2 : CHE
EAE2 MEE|X| ok=C},
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In [1): genesis='In the beginning God created the heavens
if 'day' in genesis:
print( 'today')
e ——————
today
if 271
=
elif =71
HAT2
else
4ME3
if Z710| Z0|H MSHZ 1, HXO|H elif T £0|H HHE2, HXO|H MAME3S
AlShSIT}
In [4]): genesis='In the beginning God cre

if 'wolfpack' in genesis:
print('today')

elif 'heavenss' in genesis:
print( 'heavens')

else :
print( 'None')

S —

None

pass = AlZ

In [5): genesis='In the beginning God cre:
if 'wolfpack' in genesis:
pass
else :

print( 'None')
0

None

In [2): song = [AtE, '#0O{L", "', "th=", "ERX|LH]
for i in range(len(song)):
if songl[i]=="11"
pass
else:

print(i, songl(il)
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o= Fl C|O|E X in 9L M2 J155ILt. ds Efgl2 listO|Ct.

In [20): ds = [(1,3), (3,5), (5,7)]
for (first, second) in ds:

print('&%7|', first*second)

=517] 3
=817] 15
=817 35

67



range(1,5,2)01 2lall x=[1, 3]7t & QUCt. IHE2Z for 22| number = 1, 30|
X =2 S0{ZiCt

In [23]): x = range(l,5,2)
result = [number * 3 for number in Xx]

print (result)
(3, 9]
[E24 for &= in BHS7SZR| if ZHE]

HtS 2 in0ll if ZHZ0] AN =A0]| K= 2UEE BI=EICt x0l= 329 B2 S0

[ AL,

7tA| ElCt,

In [25]: x = range(l1l,10)
result = [number for number in x if number$%3==0)
print(result)

(3, 6, 9]

for &=1 in BIE27ts4H|1 if ZHE1
for &52 in HIE27ts2K[2 if ZHE2

for 2= & H AL5104 AR 7Fs0ICt

In [29): result = [x*y for x in range(11,13)
for y in range(1,13)]
print(result)

[11’ 22' 33’ 4‘, 55, 66' 77' 88' 99' 110' 121‘ 132' 12' 24'
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(a, b)= 25 &==0|010F o1, a<bO[0{0F BHCY. g, a+1, ..., (b-1) "= 20| Xtz
2 SO0ZICH a2 B A|ZSER| T (b-1) 240] B& 2HO|CH.

HFEH{A AE(C EZ S| ) L olafo| MAJ} Olo
for Bt in 2|AE(EE RE, 2X19) In (27): Rep=list(range(3,7)) 'ANge(= &etel F7t glout
PETEEp . 4 212 EIOER Agstai
AslsE DXl list() &t~Z AF23HOF ST
Out(27]: [3, 4, 5, 6] list)E AHE5HA| 22 Repo|
« RIAEO| RYE A2 HSREl BIX| SRS Masic range(7t MFEICE.
L B|AEOE 2RHAS, F4), 2R D& JHSED 27101 S 27| 2oz U (28] | Repmxange(= )
stof @2 Tak girt

Out[28): range(3, 7)
- BHE20) B2 EX| ool EiCt,

- . : Of| |
In [9): for i im [9,3.5, 'wolfpack’'] :
2 ] " Ol "
print(i,"HULIG") in Uk 2| A0S BX}, 24 RE JHSSiCH
9 HLict
3.5 HAL|C} In [3]: count = ['one', 'two', 3, 4.5)
wolfpack HEIL|C} for i in count:
print(1i)
HEE 4 0] 9, 3.5, “wolfpack” A2 QUEASIHA HHEREHS ASHSICY
one
two
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In [6]:

count2 = [(1,2), (3,4), (5,6)]
for (first, last) in count2:
print(first + last)

~J

for 20| range() AF2E e list() AFSSHK| 20t =ICT,

for 22} Tuple Of||

In [21]:

for i in range(3,7):
print (i, "®QLICt")

3 #euc
4 #Quch
5 #euct
6 B

Of| |

In [8]:

score = [95, 45, 67, 35, 70)

num = 0
for mark in score:
num = num +1
if mark >= 60:
print("$d¥ 42 pass." % num)
else:
print("sd¥ 42 Fail." % num)

1 842 pass.
2 M2 Fail.
3 M2 pass.
4 M2 Fail.
s I pass.

In [32): name=('wolfpack', 'kingkong', 'who')
for student in name:
print('&’d O|§2 %s0|C}.' $student)
&y 0|2 wolfpackO|C}.
&4 O|&2 kingkongO|C}.
&y O|§2 whoOlC}.
for 22} Dictionary Ol A|
In [42): name_pt={'wolfpack':99, 'kingkong':88, 'who':77}

for student in name_ pt.keys():
print('®d %s HXZ s0/C}.' 3(student, name_pt([student]))

&4 wolfpack HXHE 990|C},
&4 kxingkong 44X 880|C}.
&4 who ¥HE 770|Ct.

70



for 22t continue

if 274 : - Z710| BtE5HH continuedl 2l print() £ AlgisHK

In [18]:

52
=
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o
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score = [95, 45, 67, 35, 70)

num = 0
for mark in score:
num = num +1
if mark < 60:
continue
print("td¥ Y2 Pass." % num)

1 842 pass.
3¢ 84S pass.
st Y2 pass.

break £ A2
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In [15): for x in range(2, 10):
if x V3 == (:
print(x, ‘3% His')

~ print(x,
pass break
else:
3 32 HWe pass
6 32 W
9 32| W% 3 39 W=

In [16): for x in range(2, 10):
if x % 3 == 0:

39 His")

for 21t range &+

continue 2 A2

In [12]:

In [19]:

sum = 0

for i in range(l, 11):
sum = sum + i

print(sum)

55 sum += + i

score = [95, 45, 67, 35, 70]
for num in range(len(score)):
if score[num] < 60:
continue
print("sd¥ & passYULICL." & (num+l))

1#H &MY pass@L|Ct.
3t & pass®ILICE.
s &4 pass®ILIC|.

if 271 : else : 0|M else 2= AtESt= it CHEE AFEE 4= UL

In [18): for x in range(2, 10):
if x % 3 == 0:
print(x, ‘32 Hi$")
continue
print(x, '39 Hi$ x')

39| Hi$ x
39| Hi$

39 % x
39| Hi$ x
39| Hi$
39| olf<
39| Hif$ x
39| Hi$
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2 = D E0|Ct sum+=1 <=> sum=sum+1 2} ZC}. print
2 S50{ M| E ofX| AU O Z while & LHO|IA HEEZ|X| 210 while £0| 2t
A

In [74): sum=0;i=1
while i<=10:
sum+=i
i+=1
print('107tX| F%+ Bf=%d'$sum)

107X H+ &=55

=M CTRL+c E €& 7|s3lCt.

=
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while 22 if & AFE, break, continue

break AtZ5}7|

0~97HX| H|E2 FHH otof| Bt == QUCE.

In [70): import random as rn (1)
secret=rn.randint(0,9)
tri=0 (2)
while tri<10:
guess=int(input('Enter (0~9)?'))
if secret==guess:(3)

print('Perfect!!!’)
break (4)

else:
tri+l

print('Fail !!!")

Enter (0~-9)?5
Fail !!!
Enter (0-9)?6
Fail !!!
Enter (0~9)23
Perfect!!!

(1)randint(0,9) &= 0~9 AlO| H= & SHLIE 2| F&510 secretdi| X&Fet
Ct. 0] &= random Z2E0] 0| import 22 AR5t}
2 022 ST, OPX|aF &= Hm Jof tri+10]| 2fs 124 STt

(3)input() &r==0fl 2fsl ArEXt7} 2i2et 210 guessOil MEE|0] 0], B[} 21
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continue AF23}H|

continue =01 2lslf if =710| BtFst= AL whileZ =O0tZHCE

In [76): a =0
while a < 10:

o|HLIX| £

a=a+1
if a § 2 == 1: continue
print(a)
2
4
6
8
10
HE 1007tX12] H 32| Hi=2| gf= F5IA| 2.

In [80): def fib(n): # Fibonaccl series up to n

"""Print a Fibonacci series up to n."""

a, b=20,1
while a < n:
print(a, end=' ')
a, b =Db, a+b
print()
£fib(1000)

01123581321 34 55 89 144 233 377 610 987

In [78]: sum = 0; i=0
while i <= 100:
i=1i+1
if i % 3

print(sum)

= 0: sumt=i

1683

Fi=F =1

E:z n 1+E12 (7’16{3,4,...})
3 2
111

n




